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Find the missing  :-

1. 10
2. 4
3. 6
4. 8
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Find the MISSING (?)

335  : 16 :: 837 : 

(A) 216

(B) 225

(C) 289
(D) 676
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Find the odd :-

(A) Cotton / कपास
(B) Nylon / नायलॉन
(C) Silk / रेशम
(D) Linen / ललनन
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Find the number of triangle?

(A) 28

(B) 29
(C) 30

(D)31
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Find the missing ONE (?)

41 , 45 , 65 , 95 , ?

(A) 110

(B) 140

(C) 150

(D) 250
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Find the ODD ONE (?)

(A) 7 : 23

(B) 8 : 26

(C) 10 : 30
(D) 9 : 29
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Find the missing ONE (?)

1.5 , 9/4 , 3 , ? , 4.5 , 21/4

(A) 15/4

(B) 7/2

(C) 8

(D) 9
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a_bbc_aab_cca_bbcc

(A) bacb

(B) acba 

(C) abba
(D) caba
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Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4

2 4 14

3 5 22

? 6 32
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Find the option which should replace (?)

Man : Biography :: Nation : ?
आदमी: जीवनी :: राष्ट्र:? 

(A) Leader / नेता
(B) People / लोग
(C) Geography / भूगोल
(D) History / इततहास
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Find the option which should replace (?)

Market : Demand :: Farming : ?
बाजार: मााँग :: खेती:?

(A) Farmer / किसान 
(B) Monsoons / मानसून 
(C) Foodgrain / खाद्यान्न
(D) Supply / आपूतत ि



MISSION SSC 2022-23 REASONING
Find the option which should replace (?)

3 , 2 , 2 , 3 , 8 , 35 , ? 

(A) 175

(B) 196

(C) 204
(D) 216
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Find the missing (?)

4 , 6 , 12 , 14 , 28 , 30 , ?  

1. 32
2. 62
3. 60
4. 64
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Statement :-
All Women are Doctors . / सभी महिलाएं डॉक्टसस िैं।
Some Doctors are Advocate./ कुछ डॉक्टर एडवोकेट िैं।

Conclusion:-
All Doctors are Women ./ सभी डॉक्टर महिलाएं िैं।
Some Women are advocate ./ कुछ महिलाएं वकील िैं।
No Women are Advocate./ कोई भी महिला एडवोकेट नि ं िैं।
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Find the missing (?)

If ‘A ‘denotes ‘multiple by’ , ‘C’ denotes ‘subtracted from’ ,
‘D ‘denotes ‘added to’ and ‘B’ denotes ‘divided by’ , then

76 C 54 D 210 B 3 A 15 = ?

1. 1072
2. 1050
3. 1830
4. 1431



MISSION SSC 2022-23 REASONING

Find the SQUARE (?)

1. 14
2. 15
3. 16
4. 17
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Which symbol will be on the face opposite to the face 
with symbol * ?

A.@
B.$
C.8
D.+



MISSION SSC 2022-23 REASONING

Find the missing (?)

96 : 54 :: 89 : ?

1. 76
2. 72
3. 67
4. 64
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From the given alternative words, select the word which can be formed using the letters of the 

give word :

दिए गए वैकदपिक शब्िों से, उस शब्ि का चयन करें दिसे शब्ि के अक्षरों का उियोग करके  बनाया िा सकता है:

SACRAMENTAL

(1) MENTION
(2) RATIONAL
(3) CARAMEL
(4) SACRED
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Statements: 
All parrots are crows. / सभी तोते कौवे िैं।
All crows are robins. / सभी कौवे डाकू िैं।
All robins are swans. / सभी डाकू िंस िैं।

Conclusions: 
I. All parrots are swans. /सभी तोते िंस िैं।
II. All swans are crows./ सभी िंस कौवे िैं।
III. All robins are parrots. / सभी डाकू तोते िैं।
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Bharat and Sapna are husband and Wife . Rohit and Bharat are 
brothers. Suresh is the father of Rohit . Sapna’s son is Krish . How 
is Krish related to Sauresh ?
भरत और सपना पतत और पत्नी िैं। रोहित और भरत भाई िैं। 
सरेुश रोहित के पपता िैं। सपना का बेटा कृष िै। कृष का सबंंध 
सरेुश से कैसे िै?
A. Son
B. Father
C. Uncle
D. Grandson
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Select a suitable figure from the Answer Figures that would replace the question 
mark (?).
Problem Figures: Answer Figures:

(A) (B) (C) (D) (1) (2) (3) (4) (5)

A.1
B.2
C.3
D.4
E.5
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